20234F

9 H

BB DT EN

= 0) h— > ™ \}
i, 38. 24B0Y YT -V —XIHBRH T,
EnioyES0SIRIE—BESEBNET., SHAKRICE S TEERNBIEDNETDTIHT TRETSL),
B | & | &8 AEB » G &8 SR = ZD

1500 B AN— Wi =8 2800 BE~5f1. UT5ME. B/B. JNED I\~ =
2 | L |2000]| myT 250 T 957— @@ | B | —g 3100 #5H/G BENYT
SN PO o~ N =8 2800 |@BEB~%3f1. UT5ME. B/B. H/G. /\V AN TAW
3 | B |00 |RREFvLYIE=TXYE (4G | 88 | T 3700 | FaBRsE (B, RARBEHEED) RENTF
6 7J< 14.00 \\J:Pgij\‘ FEZK%\_] %1@“% 957 2500 ABCTjﬂ\ 1%'3%"“%31&\ B/B\ /.L\\EE/\\J?
20:00 4G) =8 ’ BLRIH/G. Sv+—8& DSTNIT
| _ NN 557 BE~E50. MT5ME. B/B. NBNYF
7| A 2030 PT—yIRTSIRIBR (4G | Hg 2800 4314, BUAH/G, SvF-& D5TN\F
1500 4 b—3—-HF—131H =8 2,800 BBs~5h1, UT5E. B/B. NS\~ =

9 | T 2000 TREIND (4G 588 | T 3100 BLRIH/G BBNYT

| < e o 28 1,850 ABCHT. BE~%311. B/B.

10 10:00 Y- “RARKE «€C)) =]z Z% 2150 GAG

10| B |2000| HOP-UPOSTHEIBIE (4G) 3¢ 2,800 Bi~E3M0, MT5HE, BB, BarH/G| T

13| * | 1939 2XSYY—DIL (4G S8 1,800 BIS~E5(L. H/G. S o7

. 4 R A =8 1,850 NWAVG1 85U R ZRE N TAV

14 | A |20%0| FULAT-DLEIBIE (B B0 | g 2150 | EE~EchL. MRS, BB, $E8H/G | FUANYF

1500 JONSRMH &8 2,800 BE~=50, MT5ME. B/B. N
161 £ l2000| Tyvas v97— “Q) 88 | —g 3100 #EH/G. ZF 1ML, SvF—H BBV
| < o 28 1,850 ABCTITh. BE~%311. B/B.
17 10.00 YT — "BRERS «€C)) B Z% 2150 A G
17| 8 | 2000 N DIU—LARE 4G B3¢l == 5 L —A300% L
14.00 Y=PDS5T [=KE] BEHIA 557 ABCHT. BE~%3M1. B/B. NBNYF
20 | K | 2000 (4G) =8 2,500 ELRIH/G. SvF—H DSTINYF
. — — o 57 BE~=50, MT5ME,. B/B. NANYT
23| =+
A | ABBFEI6EILEERFEAS (9G) | B8 | F—A 15000 RliE RliE
24
24| B |2000| HOP-UPOSTHE2BIR (4G) e3¢ 2,800 Bis~®3M. MFSWHE, B8, BarH/G| AT
14:00 IZPDST T=KE) BIBIE D57 ABCTI=. Bi~%E3Mi. B/B. NI A
27 | K | 2000 (4G) =8 2,500 E4RIH/G. SvF—H DSINYF
28 | K |2000 |RRXSUYA=T I =XV 4G | 88 2,800 BEs~%51. B/B. H/G. ft BRI\ T
1500 B AN— Wi =8 2,800 Bs~5f1. UT5MIE. B/B. NS\

SO L |200| T -2FwT-997— @& | T | g 3100 #5H/G BENYT
BEARER 15959 T v N Y — 2 0 FyaFI—o 2030 4G 2400 48 -188
FHREAWNIEB 1330 WES “JULyYyaXKE"7 4G 2,000 J—)LRU=2T 20:30 4G 2,400 118 - 258
BEKIER %N EFxitrYyI—ROU VIHE 2Z5YTOBKI—S 2000 4G 2600 BESED
BRAAER wo L 2 S5 Tl £ 46 2300 =REPU—TBIA 2000 4G 2,300 58 -198
BASER 559 C v N Y — 2 0 = - PEHEY— 2000 6G 3200 128 : 268

225V p4T U= 2030 3G 2,000 308
225VKE@SU—- 2030 3G 2,000 138 278

wm I AXDSYMNDIN

BILHHEBE R S8R 1 2t B®49—-2323



